
SAP ABAP table HREIC_S_EMPLOYEE {EIC Employee Search}

HREIC_S_EMPLOYEE

MASSN [CHAR (2)]

MASSG [CHAR (2)]

STAT1 [CHAR (1)]

STAT2 [CHAR (1)]

STAT3 [CHAR (1)]

TITEL [CHAR (15)]

TITL2 [CHAR (15)]

NAMZU [CHAR (15)]

VORSW [CHAR (15)]

VORS2 [CHAR (15)]

ANRED [CHAR (1)]

GBLND [CHAR (3)]

GBDEP [CHAR (3)]

NATIO [CHAR (3)]

NATI2 [CHAR (3)]

NATI3 [CHAR (3)]

SPRSL [LANG (1)]

NAMZ2 [CHAR (15)]

BUKRS [CHAR (4)]

WERKS [CHAR (4)]

PERSG [CHAR (1)]

PERSK [CHAR (2)]

VDSK1 [CHAR (14)]

GSBER [CHAR (4)]

BTRTL [CHAR (4)]

ABKRS [CHAR (2)]

ANSVH [CHAR (2)]

KOSTL [CHAR (10)]

ORGEH [NUMC (8)]

PLANS [NUMC (8)]

STELL [NUMC (8)]

SACHA [CHAR (3)]

SACHP [CHAR (3)]

SACHZ [CHAR (3)]

OTYPE [CHAR (2)]

KOKRS [CHAR (4)]

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 HREIC_S_EMPLOYEE-BUKRS = T001-BUKRS 

0..N

0..N

T002

SPRAS [LANG (1)]

 HREIC_S_EMPLOYEE-SPRSL = T002-SPRAS 

0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 HREIC_S_EMPLOYEE-GBLND = T005-LAND1 

0..N

0..N

 HREIC_S_EMPLOYEE-NATI2 = T005-LAND1 0..N

0..N

 HREIC_S_EMPLOYEE-NATI3 = T005-LAND1 

0..N

0..N

 HREIC_S_EMPLOYEE-NATIO = T005-LAND1 

0..N

0..N

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]
 HREIC_S_EMPLOYEE-GBDEP = T005S-BLAND 0..N

0..N

T522G

MANDT [CLNT (3)]

ANRED [CHAR (1)]

 HREIC_S_EMPLOYEE-ANRED = T522G-ANRED 
0..N

0..N

T526

MANDT [CLNT (3)]

WERKS [CHAR (4)]

SACHX [CHAR (3)]

 HREIC_S_EMPLOYEE-SACHA = T526-SACHX 

0..N

0..N

 HREIC_S_EMPLOYEE-SACHP = T526-SACHX 0..N

0..N
 HREIC_S_EMPLOYEE-SACHZ = T526-SACHX 

0..N

0..N

T528B

MANDT [CLNT (3)]

OTYPE [CHAR (2)]

PLANS [NUMC (8)]

ENDDA [DATS (8)]

 HREIC_S_EMPLOYEE-PLANS = T528B-PLANS 
0..N

0..N

T529A

MANDT [CLNT (3)]

MASSN [CHAR (2)]

 HREIC_S_EMPLOYEE-MASSN = T529A-MASSN 

0..N

0..N

T529U

MANDT [CLNT (3)]

SPRSL [LANG (1)]

STATN [NUMC (1)]

STATV [CHAR (1)]

 HREIC_S_EMPLOYEE-STAT1 = T529U-STATV 

0..N

0..N

 HREIC_S_EMPLOYEE-STAT2 = T529U-STATV 

0..N

0..N

 HREIC_S_EMPLOYEE-STAT3 = T529U-STATV 

0..N

0..N

T530

MANDT [CLNT (3)]

MASSN [CHAR (2)]

MASSG [CHAR (2)]

 HREIC_S_EMPLOYEE-MASSG = T530-MASSG 

0..N

0..N

T535N

MANDT [CLNT (3)]

ART [CHAR (1)]

TITEL [CHAR (15)]

 HREIC_S_EMPLOYEE-NAMZ2 = T535N-TITEL 

0..N

0..N

 HREIC_S_EMPLOYEE-NAMZU = T535N-TITEL 

0..N

0..N

 HREIC_S_EMPLOYEE-TITEL = T535N-TITEL 

0..N

0..N

 HREIC_S_EMPLOYEE-TITL2 = T535N-TITEL 

0..N

0..N

 HREIC_S_EMPLOYEE-VORS2 = T535N-TITEL 

0..N

0..N

 HREIC_S_EMPLOYEE-VORSW = T535N-TITEL 0..N

0..N

T778O

MANDT [CLNT (3)]

OTYPE [CHAR (2)]

 HREIC_S_EMPLOYEE-OTYPE = T778O-OTYPE 

0..N

0..N


